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Alcohol Testing Program

INSTRUMENT PROCESSING SHEET

Agency L\Qr’\é e

=) CLL(_"'\‘\ Ly

SIN 2O O 234

{
Dateln = / 588

7 : -
Date Out __(a/ég/[] PBship Qp/u OH/D QcMI QEE

@f"l Keyboard/Plug
O Screws tight

Other Equipment:
O Power cord

fAC_ Back/Plugs
Breath Hose

.

53mm 23g (.228 - .278)
103mm,‘_-£9da 447 - 547)

Barometric Pressure Check

Gauge ID # 3

Stability Checks

Intake Performed By \c*>) | Quality Checks Performed By [ | Flow Calibration Perf y

Q Registration = |¥@ wbTempoc_ 9. G Lo|e|if B Flow Calibration N/A™ L U

& Annual ﬂ Breath Tube Screen 2 1.0| O Flow Calibration Cogplete EQ

QO Return from CMI B Replace External O-Rings Flow Column #

Q'  Return from Enforcement ﬁ Instrument Set Up Verified Q  sL/mip - 17mm,. v 1>
Electronics R-Value ‘f Q 15L/m|nOﬂBBmmDL d

O Other Flow Verification (L/s) 7 Q 30L/min - 103m1”rflnqp

Visual Inspection: Flow Column # P( Tp 103 O R-value rDQf

_Q_ViCase ol Handle 32mm_ [ 5 (.139-.169) | O Post Calibration Verification (L/s) 7

O Dry Gas Holder (W Feet 36mm _+ [} (.156-.190) Flow Column #

(.139 - .169)

32mm

36mm (.156 - .190)

53mm (.228 - .278)
103mm (.447 - .547)

Maintenance Performed By

O Battery Replacement

U Dry Gas Regulator Replacement
U Breath Tube Replacement

O Other

Q  Printer Cable_ . | simulator | Serial # Lot #/Exp
Q- Other e W3 Bac 0.05 . . (201 203D
o] SO 2 3518
0.08 ‘ . G0i{p| |
Notes: Dﬁla"(f - |5’-§>
0.20 p < 220 itg 04
PROVOUT 5515
0.08 DGS N/A Ao T ed"
1-1Y-1¥

Quality Checks Cont. Performed By 5|
Simulator Temperatures °C

™
b |

External Digital Therm. ID#: 300505 ;.
34°C +-.2 Serial#: SD ]
34°C +-.2 Serial #: @M

34°C +-.2 Serial#: SD

NAWES UOSER. TO NI NAL sp

Calibration Adjustment Performed By < ¥ Department Inspection Performed By
U Calibration Adjustment N/A “ Barometric Pressure 1005 Gauge
? Calibration Adjustment Complete s ID# r}_l 760 ( Q Instrument
arometric Pressure Gauge |05 1D # SPS 4ol _
Simulator Serial Number | Lot Number | Expiration Mouth Alcohol Solution Lot # 20 o - A
0.000 S DIO !q N/A N/A Acetone Stock Solution Lot # K011-A
0.040 SD 1o lg ,@320 10 ,9{ i [5 Simulator Serial Numpsr
010 1SpI013 {17040 | 2-14-19 | |[° GAFED
S0 . T AT erent GA52RY
0 SOOI [17090 |2-34-19]| 50 D39l
0.300 : T ' : = SRR
: DRIZTS (Y410 [i2-19-15 ]| 008 SD XY
| 0080DGS | N/A (6LI5050A 7-6-17 || [0.20 SDFI33
| Post Calibration Adjustment Stability Checks
Simulator Serial Number' | Lot Number | Expiration Attachments
0.05 S’D’é’ﬁ[@‘a 20103 | 3-5-18 Form 41 @ Calibration Adjustment
0.08 SDHF ey 2ol | U- 153 % Pre-Stability Tests B Post-Stability Tests
0.20 SD2A33 |20 W0te | 4-5-1% O Flow Calibration Q Other
|[008DGs [ N/A Aet9wos| 1-14 -i8
Notes/Suggested Service: 8 Instrument Complies with Chapter 11D-8, FAC
PELFORMED CAL ADTUSTIVENT TV BRING O instrument Does Not Comply with Chapter 11D-8, FAC

LA DS

A A

}3 Return to/Place into Evidentiary Use
O Remain Out of Evidentiary Use

ANTAN . Qﬂl(al!? !

y‘ Conduct an Agency Inspection Before Evidentiary Use

Quality Control Rﬁ

4

te
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